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7T

0, y < 0.

2. =FEINZEEX~U(0, 1) NFENE R Y= W E R E
Zlﬁijjfy(y) ;» I<y<e,

0, HE




513. EXMXS YIHEMIL, IRMSE 4TG0,

M Z=min(X,Y) D HRBFE)= [1-¢*, >0,
0, z<0.

f5l4. 12BENZE E XERMS EN 1 BNEE o 6, T

E(e?>*)= 1/6




3] 1. BEXIX~U(-1 0) FIIJ(l)Y—XZE’sz%“‘EIZI
)
fy (y) T 2\/—

1/2 -1<z<1,

@ 7 = 2X + 1 IMEET FEIZI S{fZ(z) Hfth

2.18X, YIRS, XBDHRENF(x), M
Z =max{X,Y} MDHER F, (z)= [F)]
3. BENZTEXEYHEMIAIIHRMSE 4 =1
RIEE DT, MZ =min(X,Y) D HRENF(z)=

F(")—[l e z>0
10 H fth




11. A E. HXREF
Cov(X,Y)=E{X-EX)]|[Y-EX)]}
=E(XY)-E(X)E(Y)
13 313th,
Cov(X, X) = E {X - ECX)] }= D(X)

~ Cov(X,Y)
S D)D) (ow|<1)



Gl BHBENEEX ~U(-1,1), Wx5y =|x|
HXRE®p,, = "

512 FEREAINREREN SRR ER, NXMER
KENHEXZRZ#NN -]

) (1, |y|<x,0<x<1,
43 1.1% (X,Y)~ f(x,p) = il
> X (X,Y)~ f(x,) <\ N

Pxy = .O_
2. 1IN T E X, NIFZE D(X)=4, D(Y)=1, HXZRE
Pry = 0.6, MCov(X,Y)= 1.2




12. IFED EHE
Gl FE2AEX ~ 7z (3)PHEHIHbIME —F E 158 E &
FEER X, X, -, X, X5 DR E
SHEEXRE, N
1)()7): 15 p(s?) = 3
B2 1z X, X, X, ARBBAENO,1)ETE R EE,
HA, x REFRE, I

X ~N(0,1/12) 33X +X))  F(2,10) .

12

> x;
=3




BI3 )BHBENEE F~F(7,6), M1/F~ F(6,7)

2) 1ZEINEET~5), MENZ=1T~ F(1,5) ,

1 . F51
TZ
Gla BEIX, X,,..., X, BREES SN2,

W pisrH=_1

43 1. £BMAX ~ ,2(8) PHEHMHE—F =916
ROiE RRENAEARX L, X, X, X AHESEE, W

E(X)=8.p(x)=-_EsH=19 .



13. Zlm{dit

BT g x,x,,-, X BXREBMEX~B(mp)iE S
IR, EA X —cs*Em’p’ TR
fhit=E, M e = ln

%3 118 X ~ N(u,0%),X,, X,, X, =B B AX
¥, B0 0.3X, +aX, +0.4X, 2 A lRIGITE,
Ma= 0.3

2.8 X,,X,, -, X, BRBESEMEN (u,0") B,
BH X —aSE . WERETE, We=  Un




14. B{5X|g]

i1 %X,,X,, -, X "EESAEX~N(u,o*)
B, 4, o IR, X,S* HERETRAS

BZE, W y NEBKFR1-o NEERXIEZE

(X—it ,(n— 1)X+it ,(n— 1)]

— Vn

Bz gx ,x,, -, X BREBEX ~N(uoc?)i
B, 4, o 1R, X,S* HERIETRAS
BZE, N S2BEEKFN1-o NEFXIEZE

( (n—1)S" (n—1)S" ]
\_ Z(i/l(n B 1) /1/12 (_Z/Z("‘l B 1)




&3] 1IIESSMXNAENL, RIBEXEXNES=/96409
B R RENFAS, FHERIER4, NXBHRE ( BIE(E

IKFEF0.9SHIBEEXE]ZE (3.755,4.245)
2z, ,,. =1.96.




17. ILEEZE X (Chebyshev) 7
2
P{X-EX)e <>
& 2
o

2
E

Bl GBI B X MEIER 1, FER o2, M
LEXRFERE P(|X — u|<30)> 809

P{{X-EX)ke}>1

#3500 1.3% X ~ B(100,0.5), MBI E XRS5
P(X-50/<10)>  3/4

2. RFENEEBXIRMS I 2008 7, MIFIF

Pl E R TR SRS P(X -2/>2)< _ 12




e
i%Y,,Y,, Y, - 2— 1T HBINZEEFI, «=F
— 1T ENENTFEELER:, B

lim P{|Y —a|<e}=1

n—o0

MFRFEI Y, Y,, Y, BRI ST a0

Y ’ sa.

n




SAKEIER 3T BEAL

AN

*
-4
—

E
£

S

Z=F7
 EEX mpu%i& —ul<ed=1 [ B(X,)= u
spe i <

REER D(X,)=0"

NBE : N

Ay MmPUSToPRa=1 N o B(n, p)

| L

ER IimP{|—> X. —ulke}=1

. n—>00 ni-1 E(Xk) — U
| REER

Bl 1% n, BRI E S IMIGARERNREL, PA)=p, M3T

FEc> 0, ]

lim P{|~4 — p|> &) = 0

n—o0 n




=THRORBRER (SE81%4 B0w)

i
IC)
W
PR
E
I8

JH37[E] 55

OV R E1E

IR PR E IR
TR

- IOV R ETE

4

| BREEFE — FUEHIER |

<

—

I EEINTZEX,, X,, -

E(X,)=u, D(X,)=0"

n 1T {iL it

= 2. X, ~ N(nu,nc?)
L k=1

NA ~ B(na P)
VT {iAth

= N, ~ N(np,np(1- p))

E(X,) = 1,,D(x,)=0,’

n IT{iLith n

ZX]( ~ N(le'lk’an)
k=1 k=1

-=TH B IRITHY



5l EX0BENZ= X ~ B(100,0.01), AFRORREEITE
P(X<1)=~ 172
%3] 1.1% X ~ B(500,0.2), MAFOREERS
P(X >100) = 1/2
2.1% X ~ B(100,0.5), MAARCERERES
P40< X <60)~ 0.9544

(240 ©(2)=0.9772)
3. ®EnE IS ERER, N NBHARERRE,
IR EHARENREPA)=p, N

<e)= 1 (2) HFOIREREIER]TF

N,

1)lim P
( )nl—l;r': ( n




lim P(1 < —a_"P

S = p)
4.18X,,X,, -, X, AEEMZNENES=, B
E(X,) — ,U,D(X ) = o’ i=12,---,n,

M40 5 53 AR, ZX ERUBRMES 7 )

<2)=  O©(2)-0(1)




2. HIA TR € X

BN W X(8),t> 02— ML ERTHEOSERE, WXt
FEER0<s<t, = X(¢)— X(s) ~ 7(A(t—s)) H X(0)=0,
MFR X (£),t >0 x&=—5REEN AFIHMRITFE.

N2 B X(2),t>0 @i HOSFE, Hwig bR kA
1) X(¢) & M HETRE;

2) X Far/MIAt
P,(t,t + Af) = P(X(t,t + Af) =1) = 1At + o(At), 1 >0 NH L.

3) M/
Y P(t,t+Ar) = ZP(X(t t+ At) = j) = o(A?);

Jj=2

4) X(O) 0.
NER RO FE X (). 2 > 0 J&: 5

e




3. HRAEER G
X(8),t >0 &N ARTHIR TR .
EERESRA
Hy(D) = EIX(D)] =E[X()-X(O)]=18 B u4 (£)=At

s A= O B e v e R SR
D, (t)= D(X (1)) = D(X(t)— X(0)) = At
C,(s,t) =D, (min(s,?)) = Amin(s,?)

FH 2% BRI 20

R, (5,8) = Cy(5,8) + p, (5) iy (f) = Amin(s,?) + st




1. é 2N FE ) E X
EMX: WW(t),t>02 ke, Hisa L%
) W) 2 IEs1diE

2) MHMEER 0<s<t,HE
W (t)—W(s)~ N(0,6%(t—s)), Ha>0;
3) W (0)=0

NFREL A 28 iWi\ﬂ-D- .




2. ZENIT KGR
W(t),t>0& 4Nk, W()-WwW(0)~ N(0,5°%)

51481 R 3
1, (2) = E[W ()] = E[W (t) - W (0)] = 0;

o (1) = DIW (1) = DIW (1) - W (0)] = o°t;
C,y (5,1) = D, (min(s,)) = o> min(s, 1);
R, (s,t) = C,, (s,t) = o’ min(s,?).




1. BX(O.12 0 REH 0" =3 MBHLRE, WC,(2,7)=
2 . WML (X (1), 20} REEE L gL, W C(G,6)=___
P{X()=1X(3)=3}=
3. & X2 REEANAMARLERE, BXEERN,>420, A
ELX(,)-Xt))=2(t,—1), MA=__ : P{X(4) =6|X(D)=2}=

4 & X@), >0} RBEEN 3 WEMTE, W P{X(1)=2,X(3)=4}=

5 AMFTFREBX(E) . % DU 1 R, WK

X)W EHXRBARFESHEE.

6 SRt X (7) 1 Ry () = cos 27, WEHES, (0)=

7\Eﬁu¥%ﬁfiX(t) HIEER S (0)= 2 —, MRy (7)=

1+




